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W AR &

TOTAL JEfZ | TOTAL | NET TOTAL | J[EfZ | TOTAL | NET
AR R FH=
474 1 488 4 4420 4
K £ OUT | IN |TOTAL HDCP NET K £ OUT | IN |TOTAL HDCP| NET
b = )il B BA 37 | 38 75 *| 48 702 oM B’ Ik 36 | 36 72 % 0 |720*
= g B 39 | 38 77 *| 48 722 H ] s 38 | 42 80 *| 48 752
F H E = 41 | 38 79 *| 84 706 = oY & 45 | 37 82 *| 72 [748*
fl A i KX 42 | 38 80 * 36 764 y # F = 42 | 41 83 * 84 [746*
A H EFE = 43 | 38 81 * 72 738 m N B - 42 | 42 84 *| 108 |73.2*
T b £ = 43 | 39 82 * 72 748 F R #F #® 43 | 44 87 *| 132 |738*
X & B F NR ¥ HBH # — 44 | 44 88 | 144 |736*
TOTAL JEfZ | TOTAL | NET TOTAL | JIEfZ | TOTAL | NET
&% T4
476 2 489 5 4416 3
K £ OUT | IN |TOTAL HDCP NET K £ OUT | IN |TOTAL HDCP| NET
% 23 [l 38 | 35 73 % 0 730 " E E 7 39 | 39 78 *| 6.0 |720*%*
B Z % A = 36 | 39 75 * 12 738 /NS " S R 3 42 | 39 81 *| 72 |738%*
w e & &£ X 39 | 37 76 * 0 760 I B B OB OE 45 | 37 82 *| 72 [748*
H B B & 44 | 38 82 % 72 748 HH E A X 39 | 43 82 *| 84 [736*
F 0O ®Hm x 43 | 42 85 *| 96 754 TF B E A 41 M 82 *| 6.0 [760
B OB M ot 43 | 42 85 *| 132 718 R B OB I 43 | 41 84 % 96 |744%*
I = & 48 | 45 93 84 846 #F 1N = 49 | 42 91 | 18.0 |730*%*
TOTAL J[EfZ | TOTAL | NET TOTAL | J[Efz | TOTAL | NET
KAR BH
485 3 494 6 4394 2
K £ OUT | IN |TOTAL HDCP NET K 4 OUT | IN |TOTAL HDCP| NET
= 3 42 | 36 78 * 0 780 *+ B ®H i 39 | 38 77 * 36 734*
B OB B X 42 | 38 80 *| 96 704 H A = 41 | 39 80 *| 72 [728*
F B — B 40 | 40 80 *| 48 752 H H# KB X 41 | 41 82 *| 108 [71.2*
PRI I ) I £ 40 | 41 81 * 72 738 OB = # 43 | 41 84 * 96 |744%*
2 B E A 40 | 43 83 * 72 758 X & o 43 | 4 84 * 48 792
x W FE & 43 | 40 83 * 84 746 X B B i 45 | 42 87 *| 120 |750*
MmAaAH E E 43 | 47 90 | 10.8 792 fm = - =% 43 | 44 87 | 144 |726*




X W a7 KRa - HHB o0 MK

it H: 20174E11H21H KiggH

2 G BHIO V7 EEHER 2 —Z 6,502 Yard Par 72

W AR &

TOTAL JEfZz | TOTAL | NET TOTAL | JIEfZ | TOTAL | NET
(B =R
495 7 4482 7 499 10 4466 6
K 4 OUT | IN TOTAL HDCP NET K £ OUT | IN TOTAL HDCP| NET
iR H 15 38 | 36 74 *| 0 |740*%* = 1| = 39 | 41 80 *| 48 |75.2*
s K B X 40 | 37 77 * 36 734*%* X B # = 39 | 41 80 *| 6.0 [740*
/N # % 42 | 42 84 * 108 732*%* 2 K E # 44 | 38 82 * 72 |748%*
B & B — 46 | 40 86 * 108 752% £ e L5 46 | 39 85 *| 120 |73.0*
= w 5 42 | 44 86 * 96 764* X £3] R 46 | 40 86 *| 96 (764
E H E - 47 | 41 88 *| 72 808 Mmoo R & 42 | 44 86 *| 10.8 [75.2*
B O & B 46 | 42 88 | 120 76.0% F B F 1T 46 | 44 90 | 156 |744*
TOTAL JEfZz | TOTAL | NET TOTAL | JIEfZ | TOTAL | NET
mAR ER
496 8 4492 9 505 11 4524 11
K 4 OUT | IN TOTAL HDCP NET K £ OUT | IN TOTAL HDCP| NET
A 753 = 38 | 39 77 *| 36 734*%* == T 4 38 | 37 75 *| 6.0 69.0%
B £ FE 38 38 | 43 81 * 36 774%* B A 9w OE 42 | 40 82 * 60 (76.0*
= B Bl A 42 | 40 82 *| 36 784%* ix b B 43 | 40 83 *| 6.0 [770*
woAx M o M| 4 82 * 84 736%* h F OE B 46 | 40 86 * 84 (776*
X =] i 40 | 44 84 * 108 732*% =2 &% - B 47 | M 88 *| 132 |748%*
b A || -~ 43 | 47 90 *| 168 73.2* m o, E 47 | 44 91 *| 120 [79.0
& OH K & NR B A E - 46 | 50 96 | 18.0 [78.0*
TOTAL JEfZ | TOTAL | NET TOTAL | J[EfZ | TOTAL | NET
N0 RE;
497 9 4426 5 508 12 4564 14
K £ OUT | IN |TOTAL HDCP NET K £ OUT | IN |TOTAL HDCP| NET
Bm O HF E & 40 | 39 79 *| 60 730%* = B F & 43 | 37 80 *| 6.0 [740*
B X F 2 41 | 39 80 * 72 728* T B M & 4 | M 82 *| 60 76.0%*
N | - - S} 41 | 39 80 * 84 716* L B # & 43 | 41 84 * 72 |768%*
o F OB K H 46 | 39 85 *| 84 766 ¥ H i 44 | A 85 *| 84 |766*
1] H & 44 | 42 86 * 108 752%* B Fid g 43 | 45 88 *| 108 |77.2*
A i C] 49 | 38 87 *| 120 750* m B F A 43 | 46 89 *| 132 [758*
2 H # A 43 | 44 87 | 120 750%* & W F B 47 | 45 92 9.6 |824
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TOTAL JEfZz | TOTAL | NET TOTAL | JIEfZ | TOTAL | NET
T A KL
512 13 4522 10 529 16 458.2| 15
K % OUT | IN TOTAL HDCP NET K £ OUT | IN TOTAL HDCP| NET
E OB E 42 | M 83 *| 60 770%* =2 % & = 39 | 42 81 *| 84 [726*
W B A 42 | 42 84 *| 108 73.2* y M = ot 38 | 46 84 * 84 |756*
w B B E 42 | 42 84 * 84 756* 5 ¥ B B M 46 | 41 87 * 84 |786*
® E # = 45 | 39 84 *| 84 756* =5 B =& & 45 | 44 89 *| 144 |746*
w Bz — 42 | 43 85 *| 120 730%* N B R = 47 | 43 90 *| 10.8 [79.2*
N 5 B 51 | 41 92 *| 132 788 2 B2 # - 48 | 50 98 *| 204 [77.6*
X & E= 2 48 | 49 97 | 192 778*%* /A N 55 | 45 | 100 | 18.0 [82.0
TOTAL JEfZz | TOTAL | NET TOTAL | JIEfZ | TOTAL | NET
AREA) 1| FE
515 14 4370 1 536 17 14488 8
K % OUT | IN TOTAL HDCP NET K £ OUT | IN TOTAL HDCP| NET
(1T N 7: 38 | 40 78 *| 48 732*% 1] H 1E 43 | 38 81 * 96 |714%*
I m] % 39 | 40 79 *| 84 706%* 5 3 E 42 | 42 84 *| 84 [756*
M # 1E A 46 | 43 89 *| 156 734* T ki) t 44 | 43 87 *| 16.8 [70.2*
® & 9w — 45 | 44 89 * 168 722% E 3 ®E & 46 | 43 89 *| 132 |758*
® 2 B = 48 | 42 90 * 204 69.6* X W B - 50 | 47 97 *| 216 |754*
X #F 8&h *E 48 | 42 90 * 120 780* X a =1 44 | 54 98 * 16.8 (812
N R 15 46 | 45 91 84 826 Mmoo E 17 53 | 49 | 102 | 216 |804*
TOTAL JEfZ | TOTAL | NET TOTAL | J[EfZ | TOTAL | NET
SRR Bt
519 15 4554 13 542 18 4530 12
K £ OUT | IN |TOTAL HDCP NET K £ OUT | IN |TOTAL HDCP| NET
¥ W @ & 44 | 40 84 * 108 732*% N —  BA 43 | 37 80 * 72 |728*%
N E E % 41 | 44 85 * 84 766* # X F B 48 | 42 90 *| 14.4 |756*
E) ih A 44 | 41 85 *| 84 766* m B - 44 | 46 90 *| 144 [756*
b F # =z 45 | 41 86 * 108 752%* F # KX B 44 | 49 93 *| 16.8 |76.2*
=3 23 E 45 | 44 89 *| 120 770%* hn % 25 46 | 47 93 *| 192 |738%*
X E £ = 43 | 47 90 *| 132 76.8* B & # X 43 | 53 96 *| 16.8 [79.2
E R x B 48 | 46 94 | 168 77.2 x5 B B — 45 | 52 97 | 180 [79.0*
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TOTAL JIESZ TOTAL | NET

A
549 19 4650 16
K % OUT | IN TOTAL HDCP NET
ZE @B & & 43 | 39 82 *| 48 772*%*
% H E B 41 | 45 86 *| 120 740%*
® & - =% 44 | 46 90 *| 132 76.8*
H £ & X Ef 45 | 47 92 * 120 80.0*
i g fall 49 | 50 99 *| 204 786*
F L JT 53 | 47 100 *| 216 784%*
X H S 53 | 55 108 | 26.4 816




